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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0oo ~ 718 91.28 | =nLs | 000 ~ 0.00) 1.68 9.00 FhLst 1.00 | 5.00 ~ 9.27 91.28 | #nust | .00 ~ 927 1.68 9.00
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0oo ~ 726 92,48 | =hLs | 000 ~ 726 1.90 10.16 Zhst 1.00 | 5.00 ~ 9.70 92.48 | =nst | .00 ~ 9.70| 1.90 10.16
3 100kN/m##8%z% | 1.00 | 000 ~ 033 104.84 |3m%xBz%| — ~ — — — | 100kN/m%i#82% | 1.00 | 10.92 ~ 11.81 104.84 |3mZE#BAD - ~ — — —
zhLst 100|033 ~ 811 100.00 | #nst | 000 ~ 811|233 12.48 zhLst 1.00 | 56,00 ~ 1092 100.00| FnLS | 5,00 ~ 11.81| 2.33 12.48
p 100kN/m%#8%z% | 1.00 | 000 ~ 0565| 10821 |3m&xBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1053 ~ 1208 10821 |3m%E#BZ% - ~ — — —
zhLst 100|055 ~ 834 100.00 | #nst | 000 ~ 834|219 11.71 zhLst 1.00 ] 56,00 ~ 1053 100.00| FnLS | 5,00 ~ 1208 2.19 11.71
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 040 105.84 |3mZ#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1054 ~ 11.63| 10584 |3mE#BZ% - ~ — — —
zhLst 1.00 040 ~ 818| 100.00| FhLs | 000 ~ 818|217 11.60 zhLst 1.00 ] 56,00 ~ 1054 100.00 | Tnst | 6,00 ~ 11.63| 2.17 11.60
P 100kN/mM%E#B25 | 1.00 | 000 ~ 0.90 113.65 |3mZ#BAB| — ~ — — — | 100kN/m%i#82% | 1.00 | 10565 ~ 1321 113.65 |3mZE#BAD - ~ — — —
zhLst 1.001090 ~ 869\ 100.00| FThis | 000 ~ 869|222 11.89 zhLst 1.00 ] 56,00 ~ 1055 100.00| FnLS | 5,00 ~ 1321 2.22 11.89
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Tt 1.00 | 000 ~ 7.78 99.87 | #hst | 0oo ~ 7.78| 2.09 11.21 FhLst 1.00 | .00 ~ 1070 99.87 | #=ns | 5,00 ~ 1070 | 2.09 11.21
3 100kN/m%#825 | 1.00 | 000 ~ 1.01 11511 |3mZ#BAD| — ~ — — — | 100kN/mMiE#25 | 1.00 | 11.29 ~ 1443 11511 |3mE#Z2% -~ — — —
Thilst 100|101 ~ 879| 100.00| This | 000 ~ 879| 2.539 12.80 st 1.00 | 6.00 ~ 1129 100.00 | TnS | 6.00 ~ 1443| 2.39 12.80
9 100kN/m%Z#B25 | 1.00 | 000 ~ 1.05| 11577 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1089 ~ 1407| 11577 |3mEx#BZ2% -~ — — —
Thilst 1.00 | 1.05 ~ 883 100.00 | #nList | 000 ~ 883 2.33 12.45 st 1.00 | 6.00 ~ 1089 100.00 | Tns | 6.00 ~ 14.07| 2.33 12.45
10 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B - ~ — — —
st 1.00 | 000 ~ 725 92.36 | #hbs | 000 ~ 725|267 14.28 st 1.00 | 500 ~ 1282 92.36 | =S | 5,00 ~ 1282 2.67 14.28
11 100kN/m%#82% | 1.00 | 000 ~ 1.03 115,41 |3mZi#BAS| — ~ — — — | 100kN/m%#8Z2% | 1.00 | 11.14 ~ 1431 1156.41 |3mZE#BZ5 - ~ — — —
Thilst 1.00 | 1.03 ~ 881 100.00 | #nList | 000 ~ 881|237 12.69 Thilst 1.00 | 6.00 ~ 1114 100.00 | TnLS | 6,00 ~ 1431 2.37 12.69
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




